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Wähle"ein"(Pivot/)Element"R"und"löse"Problem"rekursiv"so,"dass"alle"Elemente"rechts"
von"R"größer"und"alle"Elemente"links"von"R"kleiner"als"R"sind."
Dabei"sind"die"Teillisten"R_L"und"R_R"in"sich"NICHT"sorIert."Im"nächsten"SchriK"wird"
dann"rekursiv"dieser"Algorithmus"auf"die"Teillisten"angewandt."
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Das"SorIeren"hat"letztendlich"in"der"Unterteilung"der"Liste"jeweils"staKgefunden."
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SenInel"sorgt"dafür,"dass"die"j/Schleife"nicht"über"die"Grenzen"hinaus"laufen"kann,"so"
dass"Terminierung"gewährleistet"ist."
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Es"bauen"sich"quadratähnliche"Strukturen"auf."Pivotelement"ist"jeweils"Punkt"
zwischen"zwei"Quadraten."
Die"Quadrate"entsprechen"dann"den"R_L"und"R_R."Dies"wird"sukzessive"ausgeführt."
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Worst/Case"triK"ein,"wenn"die"Folge"bereits"sorIert"ist."Der"Grund"ist,"dass"alle"
Elemente"in"(sorIerter)"Teilliste"größer"sind"als"das"Pivotelement."
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Als"erstes:"ParIIonierung."Diese"hat"lineare"Laufzeit"(vgl."Folie"11)."
Das"SorIeren"wird"dann"jeweils"auf"beide"Teillisten"(T(i)"und"T(n/1/i))"ausgeführt."
1/n"kommt"daher,"dass"angenommen"wird,"dass"die"Element"gleichverteilt"sind"und"
das"Pivotelement"jeden"beliebigen"Wert"aus"der"unsorIerten"Teilliste"annehmen"
kann."
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Trick,"um"das"Sigma"loszuwerden."Wenn"Formel"für"n"gilt,"dann"auch"für"(n/1)"(zweite"
Zeile)."Subtrahiere"diese"Formel"nun"von"der"oben"genannten."
Dadurch"kommen"wir"auf"die"Formel"in"der"unteren"Zeile."
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Wenn"man"davon"ausgeht,"dass"die"Listen"schon"parIell"vorsorIert"sind,"ist"es"
besser,"das"Pivotelement"jeweils"aus"der"MiKe"jeder"Teilliste"zu"wählen"(oder"als"
Pseudoelement,"welches"
nicht"gezwungenerweise"in"der"Liste"exisIeren"muss),"da"dann"die"Wahrscheinlichkeit"
höher"ist,"dass"die"Elemente"davor"kleiner"und"dahinter"größer"als"das"Pivotelement"
sind."
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A"wird"unterteilt"in"zwei"Listen:"eine"von"Index"l"bis"m"und"die"andere"von"m+1"bis"r."
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Es"entstehen"immer"sorIerte"Teillisten"in"Form"von"„Diagonalen“."
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Am"besten"wäre"es,"wenn"der"Algorithmus"mit"nur"einem"Array"anstaK"zwei"
auskommen"würde."Besser:"IteraIve"ImplemenIerung."
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Nehme"an,"die"gesamte"Liste"besteht"aus"n"Teillisten"der"Länge"1."SorIere"Teillisten"
von"immer"größer"werdender"Länge."1,"2,"4,"8,"usw."
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Der"Algorithmus"spart"sich"die"Rekursion"und"fängt"direkt"in"der"Iefsten"Ebene"an."Es"
findet"eine"Breiten/"anstaK"einer"Tiefensuche"(wie"im"rekursiven"Ansatz)"staK."
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In"der"zweiten"Hälle"des"Arrays"sind"nur"BlaKknoten,"für"die"die"Bedingung"egal"ist."
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Bei"dieser"ImplemenIerung"wird"kein"zusätzlicher"Speicher"gebraucht,"da"die"
sorIerten"Elemente"jeweils"ans"Ende"des"Arrays"geschrieben"werden."
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Im"Prinzip"ist"Heap/Sort"eine"intelligente"Variante"des"SelecIon/Sort."Man"wählt"
immer"das"größte/kleinste"Element"der"unsorIerten"Teilliste"und"hängt"es"an"die"
entsprechende"Stelle"im"sorIerten"
Teil"der"Liste."
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Der"Algorithmus"hat"zwei"Phasen:"Aunau"und"Abbau"(sorIeren)."Bei"der"
Komplexitätsanalyse"müssen"natürlich"beide"Teile"berücksichIgt"werden."
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Für"die"BläKer"müssen"wir"nichts"machen."Für"die"nächsten"(n+1)/4"muss"man"
maximal"eine"Sink()/OperaIon"ausführen."Danach"zwei,"usw."Für"jedes"Element"(bis"
auf"die"BläKer)"muss"
man"maximal"log"n"OperaIonen"ausführen."
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„Für"viele"Elemente"passiert"wenig"und"für"wenige"Elemente"passiert"viel“."Aunauen"
des"Heaps"in"O(n)."
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Wiederherstellen"der"Heap/Eigenschal"geschieht"allerdings"in"O(log"n)."Von"daher"ist"
die"Gesamtkomplexität"des"Heap/Sort/Algorithmus"O(n"*"log"n)."
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k"ist"die"Höhe"des"Binärbaumes,"also"k"="log"n."
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Best/Case:"Es"gibt"kein"Versinken,"weil"Heap/Eigenschal"immer"erfüllt"ist."
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